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Robagalia festival is celebrated on :
(A) 25 April

(B) 5June

(C) 22 March

(D) 25 December
Study of fungi isin:
(A) Phycology
(B) Mycology

(C) Virology

(D) Pathology

The founder of Mycology is :

(A) Linnaeus
(B) Anton de Bary
(C) P.A. Micheli

(D) E.J.Butler

Robagalia festival is related to :

(A) Khaira of rice

(B) Rust of wheat

(C) Red rot of sugarcane

(D) Citrus canker
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The Ireland famine was due to :

(A) Late blight of potato
(B) Early blight of potato
(C) Wart disease of potato

(D) Bacterial blight of rice

Father of Plant Pathology is :
(A) K.C.Mehta

(B) E.J.Butler

(C) Anton de Bary

(D) B.B. Mundakar

Which of the following is not a factor of

disease triangle ?

(A) Host

(B) Pathogen

(C) Environment
(D) Disease

The cell size increasing due to increase in

no. of cells is called :
(A) Hypertrophy
(B) Hyperplasia
(C) Hypotrophy

(D) Hypoplasia
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9. PIfde-19 T YbR B T § : 9. COVID-19 is a kind of disease :

(A) sUf® (A) Epidemic
(B) wWRfs® (B) Sporadic
C) T<M® (C) Endemic
(D) ESiREY (D) Pandemic

10. foddi fAf= &7 & Th YR & T @ 10. Continuous occurrence of a disease in a
particular area is called :

IR-9R I~ BT HEATT 2

(A) i (A) Epidemic
(C) <& (B) Endemic
©) Ufi® (C) Pandemic
(D) WRfSH (D) Sporadic

1. Frfofed & 9 oF-a1 Qf o1 Wil 11. Which of the following is total stem
37 parasite ?
(A) AR (A) Loranthus
(B) ¥I& (B) Striga
(C) PRI (C) Cuscuta
(D) JRIEH! (D) Orobanchi

12. R®A Udh Fgoidl & : 12. Lichen is an association of :
(A) ®dh TG WG] o (A) Fungi and Bacteria
(B) deh Tq fauro o (B) Fungi and Viruses
(C) hHdd UG USSR Bl (C) Fungi and Protozoa
(D) HIH TG AT B (D) Fungi and Algae

Ag-106 (5) Set-A



13. RS UF : 13. Strigaisa:

(A) 3Fg-TT Wolrdl (A) Semi-stem parasite
(B) 3fg-vTs URGIdl (B) Semi-root parasite
(C) UT T URardl (C) Total stem parasite
(D) U TS Wil (D) Total root parasite

14. f=faReg & 9§ oF-91 BN 14.  Which of the following is a Paleomorphic

qEHUAT © ?

microorganism ?

(A) TSI (A) Phytoplasma
(B) iiar (B) Bacteria
(C) Pdd (C) Fungi
(D) R (D) Nematode
15. g & W@’ I B RS o : 15. Citrus ‘Stubborn® disease is caused
by :
(A)  HISCIITSH (A) Phytoplasma
(B) dIaxd (B) Virus
(C) TS (C) Viroid
(D) &I (D) Fungi

Ag-106 (6) Set-A



16.

17.

18.

et # W S B @

(A) Tafea

(B) fgarf fagred

(C) fawvsa

(D) TR

STl Bl QAT BTG o @ forg
T B AR TS ¢

(A) 5-10 e

(B) 20-30 f#c

(C) 40-50 f e

(D) 10-15 fc

ey ST A9 & W 8
(A) MEC B

(B) U I wyITEia
(©) e MX

(D) <. . IR

Ag-106

(7)

16.

17.

18.

Bacteria are commonly reproduced by :

(A) Budding

(B) Binary fission

(©)

Fragmentation

(D) Spores

Bacteria are required time for doubling of

cell :

(A) 5-10 minutes

(B) 20-30 minutes
(C) 40-50 minutes

(D) 10-15 minutes

Father of Phytobacteriology is :

(A) Robert Koch

(B) Antony van Leeuwenhoek
Louis Pasteur

(©)

(D) T.J.Burrill

Set-A



19.  Sfiar R 19. Bacteriaare :

(A) THRIABI (A) Unicellular
(B) WdbRACH (B) Prokaryotes
(C) oR IfdeT MY afed (C) Having rigid cell wall
(D) Sugad |4l (D) All of the above
20. STV I PR MR i Bl @ 20. Bacterial cell wall consists of :
(A) =IRT (A) Murein
(B) TATSHIICH Bl (B) Glycoprotein
(C) Wi o (C) Chitin
(D) el @l (D) Cellulose

21. \_rﬁaTUl PIVAT & T TNB ERSIRG H 21. Bacteria with several flagella attached all

WT@EF[@‘@?[ 2 a 9T P § over the cell are called :
(A) AFIEEHY (A) Monotrichous
(B) <ABICISHA (B) Lophotrichous
(C) Wigrgda (C) Peritrichous

(D) TRHICISHY (D) Amphitrichous

Ag-106 (8) Set-A



22. fy=faRed # & SI9-0 Sfamel § oftes 22, Which of the following method is not

N LT sexual reproduction in bacteria ?
(A) DRI (A) Conjugation

(B) ¢IIS®RIA (B) Transduction

(C) waifed (C) Budding

(D) TFIBIHIN (D) Transformation

23.  ‘@IIfogd arIaH TefsH’ T ¥ Aoid 23.  Who said, ‘Contagium vivum fluidum’ is

QT & fore iR 2| Foe @ o ? responsible for the mosaic disease of
Tobacco ?
(A) R (A) Mayer
(B) SaMIaGR® (B)  Ivanowski
() fooRf® (C) Beijernick
(D) ¥ (D) Stanley
24. fauTopail ¥ BIe § 24.  Viruses are having :
(A) IR T T (A) RNA
(B) S UA. T (B) DNA
(C) ¥R U. U TG €l T T (C) RNAand DNA
(D) SR TH. U. 3T Sl UH. T. (D) RNA or DNA
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25. fawferRed # wE) gAferd oireT &

(A)  faw—smaiRim

(B) S —argfed

(C) TIDH—HIZhIciol]

(D) el BRA Yarel— ATt

26. v & Gl ARY ai® T & TR0

BT B

27. ‘THNUeA dF & A

Ag-106
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25.

26.

Correct match pair of the following is :

(A)  Virus—Acellular

(B) Bacteria—Chitin

(C) Fungi—Phycology

(D) Blue green algae—Algae

Yellow vein mosaic of Bhindi

transmitted by :

(A) Thrips

(B) Aphid

(C) White fly

(D) Beetle

‘Acropetal chain’ formation is the special

character of :

(A) Pythium

(B) Alternaria

(C) Phytophthora

(D) Puccinia
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28. fo=iforRad § W ®I9-91 UedIRI@™ dad  28.  Which of the following is an example of

T TSR & ? unicellular fungi ?
(A) RESIIERI] (A) Puccinia
(B) IHIZRT (B) Uromyces
(C) prER™ (C) Saccharomyces
(D) Sugad FHI (D) All of the above
29. il BRT AT & TS ¢ 29. Bluegreenalgaeisa:
IR EIR (A) Algae
(B) ®dd (B) Fungi
(C) fawry (C) Virus
(D) T (D) Bacteria
30. ffofed # & @F-w dgalmm 30 Which of the following is an example of
Gﬁ'qTUJ T TR & ? multi-cellular bacteria ?
(A) FEHAN (A) Pseudomonas
(B) SIIHMT (B) Xanthomonas
(C) 9IS T (C) BGA
(D) ISCIITSH (D) Phytoplasma
31.  HaPl BT FHHOT BT & 31. Fungi are classified under :
(A) TOHSIBISST & A (A) Spermatophyta
(B) STAIBISST & A (B) Bryophyta
(C) ABISET & 3fd (C) Thallophyta
(D) c<ReIwEer & fdid (D) Pteridophyta
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32. O] @ W Bl $ed o : 32.  Network of hyphae is known as :

(A) oo (A) Thallus
(B) #rsiferad (B) Mycelium
(C) difafeaw (C) Conidium
(D) dIIY (D) Spore
33. fyfoiRed # & @H-a1 g@RaAfes g 33, Which of the following is not a
S Eukaryotic organism ?
(A) PdD (A) Fungi
(B) 3 (B) Algae
(C) 3 (C) Amoeba
(D) 1 RT ardt (D) Blue green algae
34, HIDh § WY AT WY T 34. Fungi have food storage in the form of :
(A) TEHI H (A) Glycogen
(B) To[@MIZT B (B) Glucomine
(C) ¥ & (C) Starch
(D) UIEH @I (D) Protein
35. ®qP DI HIAGT MRT a9 BN B 35.  Fungi cell wall made up of :
(A) Sears & (A) Cellulose
(B) ISicA & (B) Chitin
(C) HeATT (C) Melanin
(D) =R B (D) Murein
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36. ddUce o« Uil Sl © 36. Basipetal chain is found in :

(A) Yol H (A) Albugo

(B) 3TeeARAT H (B) Alternaria
© TRBIURT H (C) Cercospora
(D) R | (D) Puccinia

37. Fd9dH ifafear &1 BRR W I g 37. The youngest conidia are produced on

HEATT T - apex is known as :
(A) THUTd o (A) Acropetal chain
(B) siUcd o+ (B) Basipetal chain
(C) fra-»id a4 (C) Criss-cross chain
(D) TSI o+ (D) Zig-zag chain
38. U % o0 ofifd S =21 IRl ST 38. Those fungi having not sexual
2 ST P T reproduction are called :
(A) AISeNUIR® Had (A) Mitosporic fungi
(B) SHTIUT &Y (B) Imperfect fungi
(©) Eqﬁ?‘mwf%rcﬁm hddh (C) Deuteromycetes fungi
(D) SUgad JHI (D) All of the above
39. faeforRed # & w-ar Wi gAford A8 39, Which of the following pairs is not
39 correct matched ?
(A) SAERIENS —SR (A) Oomycetes—Oospore
(B) SxfsarERIEN—siifsaaR (B) Basidiomycetes—Basidiospore
(C) THHERICI—RPIRIR (C) Ascomycetes—Ascospore
(D) SISTHATEIES —S[ER (D) Zygomycetes—Zoospore

Ag-106 (13) Set-A



40.

41.

42.

43.
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U UEhd H fdad WaHRUR I B
g7

(A) 4

(B) 6

) 8

(D) 10

U o], Fo TfcRfierar sRil @

(A) R

(B) iR

(C) difAfem

(D) FIMESIVAR

W Bad Sl G BlED USRIl WG

VEd € 9 990 G H HErdl Y ©

(A) REECH
(B) HRIPrECH
(C) drgTh®
(D) Suga H A Bl el

HID] BT Uh GHE [oTFd! BIRIGT M
TG Td el B g Bkl g

(A) ST RIS

(B) wifsamERca

(C) SHERICH

(D) TEPIMERICTS
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40.

41.

42.

43.

How many ascospores are produced in an

ascus ?

(A) 4
(B) 6
(€) 8
(D) 10

Those spores, which have motility :
(A) Zoospore

(B) Aplanospore

(C) Conidia

(D) Chlamydospore

Those fungi who live on dead organic
matter and help in decompose are known

as:

(A) Parasites
(B) Saprophytes
(C) Biotrophic

(D) None of the above

A group of fungi that cell wall is made up
by glucan and cellulose is :

(A) Zygomycetes

(B) Basidiomycetes

(C) Oomycetes

(D) Ascomycetes

Set-A
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45,

46.

47.
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(A)  SITHERIES #
(B) SHHSRICT H

(C) TR H
(D) SWa ¥ ¥ IS T

(A) TERHAERICST @
(B) sHIfSAMERIES @
(C) STETHERIES &1
(D) SUYa H A Pl el
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44,

45.

47.

Vesicles are produced in :
(A) Pythium

(B) Albugo

(C) Phytophthora

(D) Puccinia

Sac fungi is called as :
(A) Zygomycetes
(B) Basidiomycetes
(C) Ascomycetes

(D) All of the above

‘Clamp  connection” and ‘dolipore

septum’ is found in :

(A) Zygomycetes
(B) Oomycetes
(C) Ascomycetes

(D) None of the above

Zygospores are the resting spore of :

(A) Ascomycetes

(B) Basidiomycetes

(C) Zygomycetes

(D) None of the above

Set-A



48. ARSI ¥ oY) I BN T : 48.  Spores produced in Oomycetes :

(A) SR (A) Zoospore
(B) ¥R (B) Oospore
(C) TURMIIRGR (C) Sporangiospore
(D) Sugad FHI (D) All of the above

49. W $ad I o8 Ucamd Tl 8T 8,  49.  Those mycelium have not septa is known

B © - o

(A)  THTsHiferad (A) Promycelium

(B) AMfifes argfifera™ (B) Coenocytic mycelium

(C) WIIH® wrgHiferad (C)  Primary mycelium

(D) Tgdad wdifer™ (D) Secondary mycelium
50. el HEMNI Bl HRY o 50. Bengal famine was due to :

(A) BfcHIRaiRad (A) Helminthosporium

(B) UaIIRI (B) Puccinia

(C) THISCITRIRT (C) Phytophthora

(D) FER (D) Uromyces

Ag-106 (16) Set-A



51.

52.

53.

54,
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(A) FHYIT

(B) DT
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51.

52.

53.

54.

Food absorbing organ of fungi is known

as .

(A) Appressoria
(B) Haustoria
(C) Mycelium

(D) Hook

Whole thallus is converted into

reproductive organs is called :
(A) Holocarpic

(B) Eucarpic

(C) Promycelium

(D) Oogonium

The spore which are produced in budding
method ?

(A) Arthrospore
(B) Blastospore
(C) Conidia

(D) Exospore

Binomial nomenclature was given by :

(A) Linnaeus
(B) Butler
(C) Jenner
(D) Smith

Set-A



55.  UHIRIferd @ Wil &l off 55.  Penicillin was discovered by :

(A)  <IdRTel | (A) Blakeslee
(B) oif A (B) Linnaeus
(C) TIfdT = (C) Fleming
(D) el A (D) Stanley

56. Uy ﬁqTUl @ fhedsaed 56. Crystallization of plant virus was given

o by :
(A) 3. 9. IR gNT (A) T.J.Burrill
(B) grasT IR W gRT (B) Bawden and Pieri
) fooRf® gr (C) Beijernick
(D) el I (D) Stanley
57. 3MAR® ol S 3T § 57. Internally seed borne disease is :
(A) St SICNEC] (A) Covered smut of barley
(B) g P Y HUS (B) Loose smut of wheat
(C) g BT Fell o5 (C) Black rust of wheat
(D) Sl &7 ol TR (D) Powdery mildew of barley

Ag-106 (18) Set-A
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59.

60.
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I & fabrT @Y ufshar P dEd B
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58.

59.

60.

The process of development of disease is

known as :

(A) Pathogenesis

(B) Epidemiology

(C) Etiology

(D) None of the above

Union of two functional nuclei is known

as:

(A) Plasmogamy

(B) Karyogamy

(C) Autogamy

(D) Heterogamy

Which of the following is male

gametangia of fungi ?

(A) Oogonium

(B) Antheridium

(C) Conidium

(D) Sporangium

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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